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Ex. 1 A colony of red-tailed squirrels triples every year. At present time there are about 920
squirrels in the colony

beginning,
year 0
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a) Determine an equation to represent the population of squirrels in this colony for a number of
years after the present time. Describe what each part of the equation represents in the

context of the problem.
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b) What will be the population after 12 years?
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c) What was the population 4 years _a‘g_o?
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d) When will the population double? guess and check!!!
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Ex. 2 The regional municipality of Wood Buffalo, Alberta, has experienced a large population
increase in recent years due to the discovery of one of the world’s largest oil deposits. Its

population, 35 000 in 1996, has grown at an annual rate of approximately 8%.

In thousands,
beginning, 1 year later ( )
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a) Determine an equation to model this situation. Describe what each part of the equation represents

in the context of the problem.
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b) What will be the population in 20107
<2010~ 1996
- 14
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Ex. 3 A 200 g sample of radioactive polcnitim-210 has a half-life of 138 days. This means that every
138 days, the amount of polonium left in a sample is half of the original amount.

a) Determine an equation to model this situation of mass of polonium, in grams, that remains after t

days. .t
A(t) = 200(1 )



b) Determine icevis that remains after 5 years’?
D (ears
365(5) = 1925 s
# deay perieds = T

A(1825)=200(5) 2
200[ (1+2)A (\825+139))

c) How long does it take for th%oo g sample to decay to 41 g7
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Determine another type of situation that involves decay?

decrease

£ units must be the same
The exponential function f(¢) = ab"“can be used as a model to solve
problems involving growth and decay, where:

% f()is the ma,Q amount oster 6@5{&&%
» aisthe NI CLW)OUMt

% bisthe ngh/deca% MLe

» 1fb>1 ggggul kf)
e decca%

o tisthe

% histhe If’mi'h O‘F "ﬁW”‘e fOK ik%lmweca%

isthe ¥
h




weeks elapse, there are 10 times as many insects as before.

N(w) = 5co (10)*3

Ex. 2 Radon has a half-life of 25 days.

a) How much sample is left after 372 days b) How much did you start with if after
if you start with a 200 E,Hample? 125 days thereis 10gr ma:nlng'?
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Ex.3 In anuclear test explosmn some ontlum 90 is released. This substance has a half-life of 28 years.

a) Express the percent P of stontium-90 b) What percent of strontium-90
remaining as a function of the remains after 50 years?
number of years elapsed, .
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